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1. a) On the grid provided, graph the inverse (Y = f '(x) ) of the given function (y = f(x)) 3(3
‘ o H—— - 1‘ ~b) What is the mathematical relationship
) . ,,TT —1—< — i between the two graphs. ™
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2. Fork(x)=3(x+7)" -
a) State the domain and range of) = k(x O b) State the domamﬁran;:g of y=k '(x).
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¢) Find the equation (y =k ‘! (x)) for the inverse of y = k(x). Show all steps.
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d) Reslricl‘thcﬁomain of k(x)so that k (x) is a function. 3 7;__'"
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73. Forf={(34), (36) (7,8),(9,10), (I]}’Z) and g = ,(17) (38) .G, 2).(8,11).,(1L/5) }find
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QUIZ # 3 ( Knowledge & Understanding)
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4. a) Write the algebraic representation (equations) for the given graph. _/ '
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/ : Explain mathematically.
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5. A piece-wise linear graph is represented by the following equations.

bedf(x)=3 ifx <4 a) Isy = f(x) a continuous fung;tu;mif’}g:3 “
Prwmathcnmeauy‘fnd explam dﬁ\;ﬁ* 23

f(x)=lx+l if 4<x<8 @ ‘
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6. a) Determine the equation for h(x) = f(x) » g(x) if f(x)=7x+4 {-4 x<7} and

3 g(x)—-§x+5 { 25x,§8}
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